honever, when we study a system definition of system matters Important situation: System, const N V can change, Energy can flow const N, V, E for system, charge in internal energy = heatin - work done

\dE = tq - tw /

Reminder: infinkssibles show the property  
of a function to a very tiny charge  
in an argument  
$$f(x + \Delta x) \approx f(x) + \Delta x \begin{bmatrix} df \\ dx \end{bmatrix} + \dots$$
  
so  $\Delta f = f(x + \Delta x) - f(x) \approx \Delta x \begin{bmatrix} df \\ dx \end{bmatrix}$   
or  $df = \frac{df}{dx} \cdot dx$   
for multidemensions,  $dx dy \approx 0$  so  
 $df = f(x + \Delta x, y + \Delta y, \dots) - f(x, y, \dots)$   
 $\approx \begin{pmatrix} \Im f \\ \Im \chi \end{pmatrix} \begin{pmatrix} \Im f \\ dy \end{pmatrix} \begin{pmatrix} \Im f \\ dy \end{pmatrix} \begin{pmatrix} \Im f \\ dy \end{pmatrix} \begin{pmatrix} \Im f \\ \partial \chi \end{pmatrix} = \frac{df}{dx} \cdot dx$   
some when as chain rule  
 $\frac{df}{dz} = \begin{pmatrix} \Im f \\ \Im \chi \end{pmatrix} \begin{pmatrix} \Im g \\ \Im \chi \end{pmatrix} + \begin{pmatrix} \Im f \\ \Im \chi \end{pmatrix} \begin{pmatrix} \Im g \\ \Im \chi \end{pmatrix} \begin{pmatrix} \Im g \\ \Im \chi \end{pmatrix} = \frac{f}{2} \cdot dx$   
 $\Delta f = \int_{peth} df$ 

put 3,5 because depuds an path faken. However, charge in E does not  $\Delta E = \int_{-\infty}^{16} (dg - dw)$ a = N, V, E, b = N, V, E, d = N, V, E, different kinds of work Jeg mednical, chemical Eisa state function -L'deards only on macro voriables  $\mathcal{E}(A, b, c) \Rightarrow d\mathcal{E} = \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) = \sum_{i=1}^{n} \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{E} \\ \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( A + \cdots \right) \left( \begin{array}{c} \partial \mathcal{A} \end{array} \right) \left( \begin{array}{c} \partial \mathcal$ 

2) Znd low. Heat is not a solele function, but exists a guartity ds= tQ/T, which is S(6) - S(1) = J = J = Ja + for any path from a->b S is called entropy Reasonage first law de = da - dw $ds = \frac{1}{2}de - \frac{1}{2}dw$  $= \frac{1}{T} d\mathcal{E} - \frac{1}{T} \left( \frac{\mathcal{D}}{\mathcal{D}} \right) \frac{\partial \mathcal{E}}{\partial \mathcal{A}} d\mathcal{A};$ -  $\frac{1}{T} \left( \frac{\mathcal{D}}{\mathcal{D}} \right) \frac{\partial \mathcal{L}}{\partial \mathcal{A}} + \frac{\mathcal{D}}{\mathcal{D}} \frac{\partial \mathcal{A}}{\partial \mathcal{A}};$ 

Can do some dieperenteil for S S(N, V, E):  $dS = \begin{pmatrix} \partial S \\ \partial N \end{pmatrix}_{V_{1}C} + \begin{pmatrix} \partial S \\ \partial V \end{pmatrix}_$  $\sim$ P T -1/7  $\overline{\phantom{a}}$ ls f law Keninder: this follows from and definition of work ASZO for any process in an 150 lated system, with 05=0 only for reveible tranformations The universe as a whole is an usolated system so any process are lo likely increases fotal entropy

Why do we need to know this? for microcononical ensemble, S is a themodynemic potential If is maximized wher any process If we know S(N,U,E), we can compute any themalynamic Guentity of interest Recall, for N.V.E  $S = k_{B} \ln \mathcal{L}(\nu, \nu, e)$ And we see  $P = \begin{pmatrix} \Im S \\ \Im U \end{pmatrix}_{N,E} \stackrel{\mu}{+} = \begin{pmatrix} \Im S \\ \Im U \end{pmatrix}_{N,E}$ We will have analogous results for cononical ensemble (N,V,T)